T DESCRIPTION A, B, CHANCE KO, JOSLYN NO. OTHER NO,
MFRS, NO, SUE. .
A 33! clase_b creonoted pine pole :
8 3 1/2" x 4 1/2" x 8" treated crossarm
C High density wet procems porcelain pin inaulator (63 ¢
] §787" x ST Forged steel pin w/eq, washer, nut, &
ocknut 88/ !
E /8" x 12" machine bolt w/ nut (or length req dJ g98/2
¥ 1/4" x 2 174" x 3/16" x 11/16" hole sq. washer 6873
[ 3/8" MF Locknut 35/2
] 176" x 1 1/4" x 28" flat Crossarm Brace 7128
J 1/2" x 4" E7 Fetter Drive Log Screw 508754
K 3/8" x 4 1/2" carriage Bolt w/ Nut 6634 72 ]
L 3/8' MF lLocknut 35/0
M Preformed Aluminum Alioy Armor Rods, sefze req'd L
N tie wire #6 strong aium, ailoy
0 Epoxy Insulator (Extension Link) KEARNEY 3710 2500 Y
P 357 claas S creosoted pine pole i
R Aluminum double tab Squeeze on Connector
for ACSR, Aluminum, or Copper-size req'd KCARNEY SERIES 81" | X
s 6" Suspenston Insulator 6200
T 5/8" Standard Oval Fye Nut 6502
u Primary Dead £nd Clamp (4050
W 5/8" x 18" (or length req'd) Double Arming Bolt agea '
w/4 mq. nuts
X guying detafl - see dwg No. ES-10 for speca.
Y Hot Line Clamp __SISZOAGR
z Squeere on basket, size required KEARNEY X
!
1
: |
: |
!
i
_
. ! 1
i OATE:  z27es e
«. ORAWN BY: DESEA?OTOS AMATER/ILS ™
! E.WINTER
DESIGN aY conoco
CHECKED BY: PRODUCTION DEPT. HOBBS DIVISIO®

APPROVED BY:

SCALE:

HMONE

JoB: ORAWING NO.

£5-17

SHEET Lt OF 3

£LEC SPECS

Gy e

I}
1

— ) o i w1 % b

|
J

BT W

s

s

> n te el

LA S

iy
B rSyirhciy

s

=

R
vt



